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SAS

BM/ MV S

PC

PC/ SASSAS Macy) o

SAS Macro

%acc_hu

%mod _ s n(

spa

%head(seeld®wtail (see

%l ess (9

16

"%except(spare)

par e)



2 .
(1)
(seq) (range)
Seedl sn=0
(2)
303 int(303/15)=20
( 6 ) (s1=1~6)
(seed)=10
( sqge) 1 7 8 910111213 27282930313233 2872883829RQ929293 303

h mod 012 3 456 01 2 3 456 0 1 2 3 4 5 6

sn 5310 2 46 531 0 2 46 5 3 1 0 2 4 6

gr olup 1111111 2 2 2 2 2 2 2 15151515 1515185 16
(a) range=int( /15)
( b) seed=int(ranuni(0)* range)
(c) ( 12) hmod

hmod=mod((seg-seed+( 12)) , range)

hmod

(d) (sn=0) (sn=1 6)

if hmod < ( 12) then sn= (( /2) —hmod) * 2) -1

else sn= (hmod — ( 12))* 2
(e) groupl=int((seg-1)/range) + 1

17



(seed)=1

(sed)2 3 4 5 6

7 1819202 1222324 40 27837238P282828284 30203

hmods 456 78 9| |[012 3456 01 2 3 4 5 6

sn ( )0 2 46 81012 |53 1 02 46 5 3 1 0 2 3 4

sn ( )yo 123 45 6| |53 10246 5 3 1 0 2 3 4

groupill 1 1 1 1 1| (111 22 2 2 14141415151515 1616

groupi21 1 1 1 1 1| [2 22 22 2 2 1515151515 1515 1616
(seed) ( 12)

(a) = s -1

(b)
group2=int(seq+(

s( )

/2 - seed))/range) + 1

(seed)=19

(sed) 1617181920212223 3B8BBAHAN U2 292959597929908030203

hmod2 012 3 45 6 0123456 18190 1 2 3 4
sn( )1 53102 4 6 5310246 9 7 5 3 1 0 2
sn( )1 53102 4 6 5310246 6 5 4 3 1 0 2
groupil |1 1 1 1 1 2 2 2222233 1515151515 1514161616
groupi2 |1 1 11 1 11 2222222 1515151515 1514151516
(seed) (range - ( 12)) range
(a) sn= 15*range - seq
sn( )
(b)
group2=int(((seg-1) - ( 2 — (range — seed)))/range) + 1

77 int(77/15)=5 5

18



12 3 456 7 8 9 10111213141516171819 7172 7374757677

hmod |1 2 3 45 6|1 2 3 456|123 45|12 4 51 2 3 4 5
sn( =1)01 2 3 45|01 2 3 45|01234|01 3 4/0 1 2 3 4
sn( =2)10 2 3 465|102 3 45|1023%4|10 3 4|1 0 2 3 4
sn( =3)31 0245|3102 45|31024|31 2 4|13 1 0 2 4
sn( =4)53 1 02 4|53 102 4|43 102|473 0 2|4 3 1 0 2
sn( =5(543 10254310 2(43210(43 1 0/4 3 2 1 0
Goup211 1111|222 222|333 33|44 1414 1515151515
(a)

( /15) (range)+1

(77/15) 2 6
)

( ¢ hmod
3.
/| Sampbas*/

Dm"l og; clear ; output;clear;";

options f-o-rime|lhta=[¥<3y*"' nodate nonumber | s=136 ;

options mst or erdo csta smpsrtionrte;=sys

%l et sy\8RPeots=d:
|l i bname sysroot "&sysroot";
l'i bname mylib "&sysroot";
%i nc " &sryeswmeok hu. sas";
data vilg;
infil e
i nput
data inf1l;
infile
i nput
data inf2;
merge vilg(in=x) infl,;
vbiyl g
i fox;
run,;

19



%acc _hu;
%mod_sn(6);

%e X C

dat a

ept (6);

except;

sbeadl taill |l egss

dat a
me

run;

dat a
se
i f
hu
rpo c
run;

dat a
me

sampl e;
rge work2 except;
by vilg seq;

sampl el;
t sampl e;
sn<=6 and (groupl<=15
idl=vilg| ]| huid;
sort; by huid1l;

filel;
rge sampllel(in=x) 1inf
by huidl;

il e " &saytssadoroppb21.t xt "

put v7 lggr o$u9pl s n8-1 11 Os e x

3

%mod _ sn(spare)

20
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(wor k2

(infl)

4.%acc _hu

(1)

%ma

dat
S
f

cro ;acc_hu
kl(keep=huidlihuiaddvebg)firstl

a wor
et in
irstil

run;

a
r

a hu;
et wo
roc s
by v

f;by huid1l;

a hul;

et hu;

et ain
i rst?2
ast 2=

except (spar

) (except)
sampl el

=first. huid?1,;
rki; i f firstil=1;
ort ;
ilg address hui d;
by vil g;
seq O0;
=first.vilg;
last.vil g;

f tf2i=rls t hen seq=firstl;

| se d
seq-=
nd;

cc_hu
ange

n
— P Q

0
seq+firstil;

2=1;

=seq;

int(acc_hu/ 15);
seed=int(ranuni (0)*range);

21



if seed<l1l then seed=1;
el se seed=seed,;

run;

%mend acc_hu;

(2)

a.
(range)

b. ranuni (Dange( )

5%mod _sn(spare)

(1)

%macr o mod_sn(spare);
data wor k?2;
merge vilg hul,;
by vil g;
hmod=medé¢fs€8&spare/ 2)), range) ;

i f dekfh&spare/ 2) t henrhnsond=l(*(2&spare/ 2)
el se sO0&é6pbmod/ 2)) *2;

groupl=ipt(angq)+1;

i f seed<=(&spare)/ 2 t hen-sgeeodu)p)2/=rianntg(e()s+lq;+ ( &spar e/
el se i f s-&egafteéda2yet hen

group2=i At} &6pagehndsgecpy)/ range) +1;
el se group2=groupl;

if seed<=(&spare)RB8pare(8¢pdtheangereoup=group?2;
el se group=groupl;

proc sort;
by vilg seq;
run;
%mend mod_sn;

(2)

a %mod_ sn(spare)
%acc _ hu

22



6.%except (spar e)

(1)
%macro except(spare);

%do i =1 %to &sparel 2;
%head( &i , &spare) ;

%end;

%do j =0 %t-@a)( &sparel/ 2
%t ai-&[ r &apgar e) ;

%e nd;

%l ess(&spare);
%mend except;

(2)

a .

%except (spar e)

b .

(sparel 2)
%heakd , &spar e)

& i &spare

%macro head(seed, spare);
data head&seed;
set wor k2;
if seed=&seed agd=¢g&eppré+ahdansd range>=&sparet

i f hmodfft&sealde/t2h)en-1s;n=seq
el se sn=sn;
run;

%mend head

23



d .( )
(sparel/ 2yahge

% a(lankge &spare)

rangp
&spar e

%macro tail (seed,spare);
data tail &tt;
set wor k?2;

if seed=(&spedld and geqlis=pladr*er;ange

i f<dégr-anges5*(angeange+&seed)) -stehge;n sn=15*range

el se sn=sn;

proc sort;by vilg seq;
run;

%mend tail ;

e ( )

% eb6 &s par e

%macro |l ess(spare),;
data | ess;
set wor k 2;

if range<=&spar e;

modl=mod(acc_hu, 15);
seqgl=(range+1)*mod(acc_hu, 15);
if seg<=seql then do;
rangel=range+1,;
groupt)htabged) +1;
end;
el se do;

rangel=range,;

24



(

grouptmod(f{segngel) +1;

end;

groupl=15;

i f seg<=seql-(tghreodu)ph madgese & q
el se h rmoodd={( ysreequ)p* r ange l;

if seed<=int(rangel/2) then do;
i f hmod<see-tdmoblgn2sn

(seed

el se if hmod>1=2*seed then sn=hmod

e | ssee esdn)=*(2h;mo d
end;
eel sd o ;
i f hmod>=seesdeetdh)e*n2 ;sn=( hmod
e | shemoidf) > s{ereadndg)e 1t h e n -hstmmo=dr;ange 1
e | shemosdnl=r(2s e e d

end
run;
%mend | ess;
)
(
PC/ SASAS Mac)y oHXCEL
SAS

(Parameter

25
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SAS Macro

SAS

Raking

Y

SAS Tabulate

Y

SAS EXCEL

PC/ SAS

1. SAS

(1)
SAS
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(2).

/* madi sas */
Dm"l og; clear ; output;clear;"
options f-o-rime|lhta=F[¥<>*' nodate nonumber | s=136;
options mstored sasmstore=sysroot mprint;

%l et sy\8deots=d:
| i bnanoet s"y&sryosr oot "
l' i bname mylib "&sysroot"

%i nc " &snyts rpopwht. sas”

%i nc " &snyts rpouobtl . sas"” ;
%i nc " &slytsarboloet. sas " ;
%i nc " &saycs rpowht. sas "

%i nc " &saycs raodojt. sas "

damya i b.;quest

infile
i nput
%t.ablegld(city,'ma?rs,' ,12.,26) ;
%t abl e91c(sex, a'g,e',5barr 8, ' ,12.,26) ;
%t abl e91c(sex, eduth-marr g, ' ", 12.,30);
%t abl e91lc(markl, mat®7 marr 8, "' ',12.,46) ;
%t ablaer9rldd, (mar r 8, " 57 ", 12.,26);
%t abl e91d( myr', ma&s7r 8, ° t,12.,26) ;
run
(a) mstorsedsmstore % nc
SAS
(b) % nc
fmt _pub. smRGRMAT VALUE
fmt _publ. $FOKRMAT VALUE
91t abl e. sas TABULATE

mac_pub. sas
mac_adj . sas

2Raking

SAS Raking
Raking

27



(EXCE)L Te ¥t | e
(91sexage. t xt)

2
SAS
TABULATE

3

wei ght (s _age) out put

convert(vil,v?z2)

%macro convert(vl,v2),;
wei ght =&v 1;
S _age=8&v2;
out put ;

%%mend convert;

4
Raking (cell)
Raking
[ * Raki*n/g

Dn“l og; cl ear ; output; clear;

options f o-r-mctlatr=[\<>"*" nodate nonumber | s=136 ;
opitons mstored sasmstore=sysroot mprint;

%l et sys\pads\pghlslexage,;

l' i bhname sysroot "&sysroot";

%i nc " &&cyosmrvoeortt . sas”";

data pred;
i nf'&k § s Y%loste x af;e. t xt
i nput €2 tsyex$t 4Ap @8 p1l
proc sort;

by city sex;

28



data real;
i nf i"Kkey s Y9oloste % at gket
i nput €2 tsyex$ 4r @8 g1 1
proc sort;
by city sex;
datraakijng
merge real pred;

by city sex;

wl=r1l/pl; w2=r2/p2; w3=r 3/ p3; wad=r 4/ p4,; wb5=r 5/ pb5
w9=r9/ p9; / pwDdO0=r wal=r11/pl1l; wl2=r12/pl2; wl3=r13/rg
%convert(wl, 01); %convert (w2, 02); %convert (w3, 03);
%convert (w5, 05); %convert (w6, 06) ; %convert (w7, 07);
%convert (w9, 09); %conwéddt Q@) 0, 1%convemec o wdrrt, 12) ;
%convert (wl3, 13); %convert(wl4d, 14);

proc print,;

var <city sex s _age weight;
3. SAS TABULATE

SAS TABULATE
(Col umpRow)( PagBROC TABULATE

FORMAT
SAS
91t abl e.(as TABULATE
)
%%macro table9lc(x1l,x2,vy,d,t,v1,.\2),; * [ *

proc tabulate missing noseps f=&v1;
class &x1 &x2 &y,

var wt ;

table (all &x1="")*(all &x2=""), (all &y
title &t;

titl e2 '

keyl abe] all =
format &x1 &x1.fmt. &x2 &x2.fmt. &y &y
%me nd ;

29



(1)

< < TOoOXK X X
N

N -

(2)

4 SAS

/ *

aeblc(xl,x2,y,b,t,vl,v2)

ROW

EXCEL

EXCEL
| NTERNET

|l eexl s. saput £l sas
SATABULATE ( )
DDE( Dynamic Dat aEXQEbang
put x| s () %put x| s ()
SAS EXCEL

1 NOXWANOIXSYNC

2 SAS EXCEL

3 DDE FI LENAME

4 DATA SFEPBEUT EXCEL

| eexl s. sas */

Dm"l og; cl ear ; output;clear;"

%I
[ i

et x| s\pbsebkEd:
bname x| sroot "&Xxl sroot "

optsomst osadmstore=x|lsroot mprint;

%i

nc " &xplustrxoostl. sas"

30



put x| s &%V srrpdbo/ttx tt s) ;

run;
EXCEL
1
EXCEL
2
TABULATE FORMAT
1
WPUT&XXISsr &0 tr,pth-7.tx) s
TABULATE (t57. rpt) EXCEL
(t57. x) s

&xl sroot
t5-7. r pt TABULATE
t5-7. x| s EXCEL

3

SAS
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| BM/ MV S

FORTRAN PC/ SAS
| BM Bl G5
Del phi
Excel
SAS SAS
Excel Excel
EUC
( CAPI1)
DM
CHAI D CHAI D

DM
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